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Answer the following questlons /Fill in
the blanks : '

(a) TRer® RfSTrer Jfera s w2
What do you mean by microstatics?
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Who is the exponent of the theory of oS free

monopolistic competition? ] According to —, the rate of interest

: depends on demand for and supply
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Write short notes on any four (within

(d) Ceomm aifd q:qqq ’F - ﬁst | 150 words each) of the following :

What is the basic objective of a firm? () TR afErs RRMeer
(e) ‘TNT'{R T By | Comparative microstatics
" Define rent. L ':‘f (b) Frers G
O & w R, - rr Indifference curve
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€ meanj ] fixed cost and total var
surplus,  SMNE of congumer ariable cost
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(d) ToIRT a5
Normal profit

(e) 1 ey

Quasi rent
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Answer the followi
500 words each) : 8 Questions  (within
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( Continued.)
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What is marginal utility? Explain the

law of diminisbing marginal utility
with diagram.

9T/ Or

(b) wZTR ﬁ"i&%ﬂm uE  IaI
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Show the differences between point
elasticity and arc elasticity of
demand. .
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Explain, with diagram, the concepts
of average production cost, average
fixed cost, average variable cost and
marginal cost.
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Explain briefly the ‘max.'ginal
productivity theory of distribution.
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Explain the risk bearing theory of

_ ' profit. Mention two basic differences
6. (a) TSI Sff@zznfﬁmm IR ¥ AE of this theory with that of uncertainty
Beet g Ree ez ] ‘14 bearing theory of profit.
determinag; Price and output
Tming on qy s oti . * & K
competition nder Monopolistic |
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Explaj '
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- y Competitjve Mmarket and
NOPoly mariet. *
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